

次の計算をしましょう。

$$(1) \frac{3}{5} - 0.3 = \frac{3}{5} - \frac{3}{10} = \frac{6}{10} - \frac{3}{10} = \frac{3}{10}$$

$$(2) \frac{5}{9} - 0.4 = \frac{5}{9} - \frac{\cancel{4}^2}{\cancel{10}_5} = \frac{25}{45} - \frac{18}{45} = \frac{7}{45}$$

$$(3) 0.8 - \frac{3}{8} = \frac{\cancel{8}^4}{\cancel{10}_5} - \frac{3}{8} = \frac{32}{40} - \frac{15}{40} = \frac{17}{40}$$

$$(4) 0.7 - \frac{2}{9} = \frac{7}{10} - \frac{2}{9} = \frac{63}{90} - \frac{20}{90} = \frac{43}{90}$$

$$(5) \frac{4}{5} - 0.25 = \frac{4}{5} - \frac{\cancel{25}^1}{\cancel{100}_4} = \frac{16}{20} - \frac{5}{20} = \frac{11}{20}$$

$$(6) 0.75 - \frac{3}{7} = \frac{\cancel{75}^3}{\cancel{100}_4} - \frac{3}{7} = \frac{21}{28} - \frac{12}{28} = \frac{9}{28}$$

